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QUESTION 1

Which statement accurately describes how to use SOA Suite to create a REST interface for a provider application that
does not support REST?

A. Oracle Service Bus must be used. An HTTP proxy service is created and a pipeline is added with a conditional
branch for each HTTP verb that the interface will serve. If there is any non- XML payload, such as JSON, an external
parser service must be used to translate it to XML.

B. Use Oracle Service Bus or BPEL Process Manager and utilize the REST binding that is available for both. The REST
binding will automatically translate a REST payload from JSON or XML to SOAP/XML for processing in the middleware
layer.

C. Use a BPEL process with a REST binding and utilize the nXSD activity to translate the native JSON payload to XML
for processing.

D. Use the HTTP transport in Oracle Service Bus for the REST interaction and use nXSD to translate the JSON payload
to XML for processing.

Correct Answer: C

QUESTION 2

Which two statements are true about the role of a Continuous Query Language (CQL) processor in a Oracle Event
Processing application?

A. It primarily executes SQL statements against the database.

B. It can be used to filter, aggregate, and correlate events in memory and can integrate with Coherence, NoSQL, and
HDFS.

C. It invokes human workflows to deal with exception handing.
D. It can perform spatial queries as well as complex

Correct Answer: AC

QUESTION 3

You have developed a BPEL process with a Switch activity using the BPEL 1.1 specification. As part of the upgrade to
SOA 12c, you are redesigning the BPEL process to use the BPEL 2.0 specification. Identify the right approach.

A. Replace the Switch activity with a While activity.

B. Replace the Switch activity with an If activity.

C. Replace the Switch activity with a Repeat Until activity.
D. Replace the Switch activity with a For Each activity.

Correct Answer: B
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QUESTION 4

Which two are features of Event Delivery Network (EDN)?

A. JMS-based point-to-point architecture that is based on queues.

B. JMS-based publish/subscribe architecture that is based on topics.

C. support for Oracle AQ as a provider

D. separately installable to allow for flexible deployment

E. support for durable subscriptions so that, in order to receive events, the subscriber need not be running

Correct Answer: AC

QUESTION 5

What two architectural factors most heavily influence the interoperability of the Oracle Adapters with Oracle Service Bus
(OSB) and Oracle SOA Suite?

A. Oracle Adapters are based on the Java EE Connector Architecture (JCA) 1.5 specification.

B. Oracle Adapters use native APIs to connect to the supported back-end applications.

C. Oracle Adapters are deployed to the same Oracle WebLogic Servers as Oracle Fusion Middleware.
D. Use of Oracle Adapters Extended Architecture (XA) features is completely optional.

Correct Answer: BC
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